


QUESTION 1

1.1 Solve for x in each of the following;

1.1.1 :{EHI]:I]

Sx? +2x—6=0 (correct to TWO decimal places)

It o220k

2x+5 ——.—3 ==1
AT




ANSWERS BEESN

3
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¥ substitution into comect formula)
wervargTng i korrelde formeale

1 )
x=hYl oriaf x= =131

¥ amsweraan,
¥ amEweraEn.

¥ itd formdsfana. vorme
« factars of wing lormuly!
Saktare of gelbruik formde

T =~ orfgf xz1




ANSWERS

,ullll' + 5-
Let .,'J'FEI +5

e |
&2

¥ changing to quadratic/
verander na kwadratics
3 orlof k=1 v factors or using formula/
Jakiare of gebruik formule

A e
imn mw i
| < O |

vik=3 orlafk=1
J2x +3 J2x +5 =1
oraf 2x+5=1

o d ¥'no solution’ geen aplossing

o soluiion

x=—2
+square both sides/

kwadreer beide kante
v x==73




QUESTION 3
3.1 Given the linear pattern: 7:2 ;-3
3.1.1 Determine the general term, T, of the linear pattem.

3.1.2 Calculate the value of T, .

1.1.3 Which term in the pattern has a value of -1387

3.2 03 2x+1 and 3x-3 are the first three terms of a linear pattern,

Calculate the value of x.




ANSWERS

QUESTION/FRAAG 3

3.1.1 7

“\‘\-5/,."’2‘\‘\_5_/_.-/”

T =an+b
= =S+ 12

Toe = —S(20)+12
= —8H

—&n+12=—138
—Sn=—150
pr= 30
30" term( T, )

Fx+1

v — S
L e

(2)

+ substitution/very,
~ ArEET iy,

(2)

T"’suhsliLutiﬂn-"ﬂEW.

" answer aniw.

w 2x — 5 andferm
x —4

» equating/verg.
" answwer’arniw,




QUESTION 3

Given: f{x]=%+2 and glx)=x+2
X-=:

5.1 Write down the equations of the asymptotes of £,

5.2 Determine the x-infercept of /.
5.3 Determing the p-intercept of /.

5.4 Sketch the graphs of [ and g on the same system of axes. Show clearly ALL the
intercepts with the axes and any asymplotes.

Calculate the x-coordinates of the points of intersectionof f and g.




ANSWERS

QUESTION/FRAAG 5

« gubstfwery, p= 0

¥ simplification'vereeny.

¥ answerani

¥ answer aniw

aubalivers. =10

v amswerianiw,

v v AEwEr ariw

For' e

¥ asymplotes/asimpinte
¥ shape/vari

¥ 1= and - mnd. fafenit

Forl¥ir g

¥ Tt afmil
¥ YLl




ANSWERS

x-]

rx-3)= 4 st vorm/samd vorm
£ ~3r-4= ) * tactors fakiove

[-4)x+1)= 0
I=4 or x=-]

¥ answersiimhy.




